
The Portable
Open Source 3D Printer 

Home 

Gallery 

FAQ 

Store 

B.O.M. 

Build guide 

Tutorials 

Calculator 

Downloads 

Links 

Support 

Start Case X/Y Axis Extruder Z Axis Electronics Setup 

1. Install two LM8uu linear bearings in each Z 
axis arm and secure using zip ties. 
Be sure the large end or connection point is on the 
round side.

2. Drill hole in membrane of nut cavity of Z lift 
bracket with 1/4" (6.5mm) drill.

3. Install one nut onto 1/4" x 170mm threaded 
rod.

4. Install large spring on 1/4" x 170mm 
threaded rod.

5. Insert 1/4" threaded rod in Z lift bracket, 
spring first. 

6. Install second 1/4" nut on threaded rod from 
opposite side as the first nut.

7. Pushing the threaded rod into the Z lift 
bracket as to compress the spring completely, 
proceed to thread bottom nut on as far as you 
can by hand.

8. Now release the threaded rod and allow the 
spring to pull the bottom nut into the bottom 
nut cavity. 

Assembly

↑TOP↑ Contents 

http://www.tantillus.org/Build_5.html Go APR FEB MAR 

24
2014 2015 2016 

14 captures
13 Oct 12 - 24 Feb 15

Page 1 of 3Tantillus - The Portable Open Source 3D Printer

10/10/2015http://web.archive.org/web/20150224020827/http://www.tantillus.org/Build_5.html



machine. 

10. Attach lower bed to Z lift arms using four 
#10 x 3/4 " bolts and nuts. 
Do not over-tighten, you can crack the acrylic.

11. Install four #8 x 1-1/4" bolts through upper 
bed and secure with #8 washers and nuts. 
Do not over-tighten, you can crack the acrylic.

12. Install four more nuts on the protruding bolts 
and connect upper bed to lower bed using #8 
washers and nuts on the bottom side. 
NO SPRINGS. The springs that are shown in the 
animation are no longer used and only serve to lower 
the print quality

13. Slide two 8mm x 230mm rods through linear 
bearings in Z arms.

14. Install Z axis lower bracket over bottom of 
8mm x 230mm rods.

15. Install the Endstop bracket on the top of the 
right side 230mm rod (when pictured from 
the front of the machine) with the hex shaped 
hole facing the back of the machine. 
You may want to follow steps 1-2 from the endstop 
section of the electronics page before proceeding 
further.

16. Install upper Z axis bracket on top of 8mm x 
230mm rods. 

↑TOP↑ Contents 

http://www.tantillus.org/Build_5.html Go APR FEB MAR 

24
2014 2015 2016 

14 captures
13 Oct 12 - 24 Feb 15

Page 2 of 3Tantillus - The Portable Open Source 3D Printer

10/10/2015http://web.archive.org/web/20150224020827/http://www.tantillus.org/Build_5.html



1. Bolt motor to Z axis motor bracket using 
four M3 x 10mm bolts with washers. 

2. Push silicone aquarium tubing over motor 
shaft and trim if required. 

1. Using eight #10 x 3/4" bolts with #8 washers, 
install Z axis assembly into case securing 
with eight #10 nuts and #8 washers. 
Center by using the washers as a guide against the slots. 
Do not over-tighten, you can crack the acrylic. 

2. Install Z motor with bracket to case using 
four #10 x 3/4 " bolts with #10 nuts and #8 
washers. 

3. Connect threaded rod to motor shaft using 
the Z coupler and two #4 x 3/4" bolts with 
nuts. 

Installation

Electronics

All artwork and videos © Tantillus.org 2012 

↑TOP↑ Contents 

http://www.tantillus.org/Build_5.html Go APR FEB MAR 

24
2014 2015 2016 

14 captures
13 Oct 12 - 24 Feb 15

Page 3 of 3Tantillus - The Portable Open Source 3D Printer

10/10/2015http://web.archive.org/web/20150224020827/http://www.tantillus.org/Build_5.html


